[ Efficiency vs vertpos |

= 02
20.16
2 F
8 0.14F
© E
$0.12
0.
0.08F
0.06
0.04
0.02

SRRT, SRS M- - —

..............................................

.........................

..........................

1Q
1.9

Ratio

0.9

kel

0.8

L)

D

— D
Efficiend g

1072 107 1

2

~ 0.5

L s S S
s e
3 ST W
o At A
g S IRRCIOT SISSEN SRS SR
7 SRR RN S S s
7, MRS O A1 S S
R
RSOSSN OO 11T . e N

0.05F--+-+--i--o- - *W'*’;m* )

Vs

>

effic

e

19
1.2
1.7

Ratio

s foad e A g e

-
R
-

%9 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.5p
>

8.0.45
0.4
£0.35

Sim

o
[

efficiency

0.25

o
()

0.15

o
=

0.05

................................................

................................................

................................................

Ratio
[ =
" - li_‘ Q

r

b

|
'5..

1015 20
Sim. PV z (cm)



	Contents
	Page 1


